
Lectures

• Function files ( how these are different from script files)
• Conditional statements

, for - loop , white hoop

• Numerical solution of tree - Fall gravity problem

• Error in numerical solution

Fwnctinfik Create new function that takes in the

input ( scalar/vector/matin , one or many inputs)

and performs computation and produces output

cscal.ae/xectwYm.atrin , one as many outputs)
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We create a MATLAB function that computer velocity of an

object at sp-ektimeondfosspecifieddnaycoeffic.ee#



graxiy-E-xamphe.mgfunction " = freefall ( tied)

% freefall : compute velocity of freefall irj object assuring man
m =L toy

% " = freefall Ctccd)

% input:

% t = time ( s ) vectosof-t.me ( scalar as vector )

% Cd = drag coefficient fkglm) ( scalar)

% Output :

% ✗ = downward velocity ( Mls) ( scalar or vector )

8=9.81 ; % gravity acceleration

m=i ;

a = sqrtcm * 8ha) ;

b = sqrtfg * Cdlm );

✗ = a * tanh ( b * t); ✓

• Conditional statements in MATLAB

( 11 IF ELSE

if condition
→
" °

§
statement (tasken?⃝ ah→

I



if condition

statement 1

elseagsµm?⃝
N ⑦ A 1,2

, 3. r -
r 5

n=1

if condition i

n --2

statement 1
.

elseif condition 2 :

statements n=5

:a n,
,, , , , ,

else

statement M

2. SWITCH

switch testenpuession siwitch n

Casse make 1- Case n= I

do tasks
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statement 2 otherwise
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otherwise
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end



• Loops

1- • FOR LOOP

for index = start : step : finish

task that may or may not depend

on inden

end

\

2. IN HILE LOOP

§ stops - whey condition
statement
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end is no longer time .

while
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• lhhemeeicalsolution Suppose enact solution for tu problem

_g-÷dimth is not known .

How do I still solve the problem?\ " " ' "" who
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provided h is small
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substitute to discrete set of equations (* I




